Emre and Lily

Representation Theory of Algebras Talk 8: Algebras and Modules I

In this talk we will introduce k-algebras and modules, where k is an algebraic ally closed field. Since all algebras are also rings, we'll start off by recalling some basics from ring theory. Then we'll move on to defining k-algebras and give you plenty of examples on thow we can connect them to Quivers through path algebras. And lastly we'll present modules and relate them to path algebras and Onivers as well.

4.1 Basics from Ring Theory

Since this section is meant as a refresher on some things that we'll use later, we'll keep it brief and not delve into too many details or give all of the proofs.

Def let R be a ring with 1 = 0. A <u>right ideal</u> (left ideal) I = R is a subgroup of the additive group (R, t) s.t. VacI, VreR GreI (resp. rigeI).

> If a right ideal is also a left ideal then we'll simply refer to it as an ideal of R, for short.

examples (4.1) (1) EO3 = R and R itself are both ideals of R Given an ideal IER and MEN, moo I":= {all finite sums of elements a, a, ....am / a; EI } (2) is an ideal of 12 Def (4.1) An ideal IER is called <u>nilpotent</u> if Im=0 for some meN, mro,

Def (4.2) A proper (left/right) ideal I CR is called <u>maximal</u> if Y J SR ideals s.t. I S CR it holds that either J=I or J=R. Remark: (1) In a commutative ring R an Ideal IER is maximal iff the quotient ring R/I is a field. 12) If k is a field, then its only ideals are EO3, k. Def (4.3) The radical rad R is the intersection of all maximal right ideals in R Lemma (4.1) let 12 be a ring and AER then the following statements are equivalent: (1) a e rad R VbER, 1-ab has a right inverse (2) 1-ab has a two-sided inverse Vber, (3) a is an element of the intersection of all (4) maximal left ideals VbcR, 1-ba has a left inverse (5) 1-ba has two-sided inverse Vbeili (6) Corollory (4.2) (1) rod R is also equal to the intersection of all maximal left ideals (2) rad R is an ideal of R (3) red (R/rod R) = 0 (4) If I = R an ideal is nilpotent, then I Erad R

4.2. Algebras In this section we'll define algebras and their properties and give a couple detailed examples, including the path algebra of a guiver. 1)ef (4.4) let k be an algebraically closed field. A k-algebra A is a ring (A, t. ) with unity 1 s.t. A also has the structure of a k-vector space where: (1) addition in the vector space A coincides with addition in the rig A (2) scalar multiplication in the vector space A is compatible with the ring multiplication ie:  $\forall a, b \in A \quad \forall \lambda \in k , \quad \lambda (a \cdot b) = (\lambda \cdot a) \cdot b = a(\lambda \cdot b) = (a \cdot b) \cdot \lambda$ the dimension of the algebra A is the dimension of the k-vector space A. Remark examples (4.2) (1) The ring of polynomials k[X] in X, is a k-algebra. Its unity is the constant polynomial 1. Scalar multiplication by LCL is done by multiplying each coefficient of apolynomial by L. We can easily see that multiplication and scalar multiplication in kEx3 are compatible:  $\frac{1}{x} (x) = \frac{1}{x} (x) + \frac{1}{x} + \frac{1}{x$ (2) The set of all non Matrices over h. Maturn (k), is a k-algebra, its units being the identity matrix.

It should be clear how Mature (h) is a ring and has a h-vector space structure. Scalar multiplication is just the same as usual. Again it is easy to cleck multiplication comptatibility: ABEMatura (4), Lek then;  $\lambda \cdot (A \cdot B) = (\lambda A) \cdot B = A \cdot (\lambda B) = (A \cdot B) \cdot \lambda$ (3) We look at the set of lowe (or upper) triangular matrices. These clearly form a subring of all matrices, and theretore also have a k-Algebra structure the unity, multiplication and scalar multiplication are the same as in Maturn (4) (4) The set of all 3×3 matrices also form a k-algebra. The identity motrix is in the set. Let us just check the multiplication: a, b, c, d, e, v, w, x, y, z e k  $A = \begin{pmatrix} a & o & o \\ o & b & o \\ c & d & e \end{pmatrix} \qquad B = \begin{pmatrix} v & o & o \\ o & w & o \\ x & y & z \end{pmatrix}$ and set  $\lambda(A, B) = \lambda \left[ \begin{pmatrix} a & 0 & 0 \\ 0 & b & 0 \\ c & d & e \end{pmatrix}, \begin{pmatrix} v & 0 & 0 \\ 0 & w & 0 \\ x & y & z \end{pmatrix} \right] = \lambda \left( \begin{pmatrix} av & 0 & 0 \\ 0 & bv & 0 \\ cvtex & dwtey & ez \end{pmatrix} \right)$  $(\lambda A) \cdot \beta = \left( \begin{array}{c} \lambda a & 0 & 0 \\ 0 & \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ 0 & \pi & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ 0 & \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ 0 & \pi & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ 0 & \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ 0 & \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ 0 & \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ \lambda b & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \nabla & \gamma & z \end{array} \right) = \left( \begin{array}{c} \lambda a & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda e \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c} \nabla & 0 \\ \lambda c & \lambda d \end{array} \right) \left( \begin{array}{c$  $\begin{array}{c|c} A(\lambda \beta) = \begin{pmatrix} a & 0 & 0 \\ 0 & b & 0 \\ c & d & e \end{pmatrix} \begin{pmatrix} \lambda v & 0 & 0 \\ 0 & \lambda w & 0 \\ \lambda w & \lambda y & \lambda z \end{pmatrix} = \begin{pmatrix} \lambda a v & 0 & 0 \\ \lambda a v & 0 & 0 \\ 0 & \lambda b w & 0 \\ \lambda c v + \lambda e x & \lambda d w + \lambda e y & \lambda e z \end{pmatrix}$  $(A:B) = \begin{pmatrix} a \cup & O & O \\ O & b \cup & O \end{pmatrix} \cdot \int \\ (v+e \times & dw+ey & ez \end{pmatrix}$ 

(5) What about the set of all 3x3 matrices of the form: ( well  $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$   $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$  are both elements  $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}$   $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$  of this set... but  $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$  =  $\begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 1 & 0 & 0 \end{pmatrix}$  is not. therefore this set does not fulfill the properties of a k-algebra. (6) if A is an algebra, then the opposite algebra A<sup>91</sup> is defined on the same underlying vector space i.e. as a set of elements  $A = A^{97}$ . But the multiplication in A°P is defined as: ¥ a, b ∈ A°r a · b := b · a multiplication in Ar multiplication in A then APP is also an algebra. Remark: Take B= Eb, bz. b. } a basis of the underlying vector space of the k-algebra A, then every GEA is a Linear combination of the b: i=7...n. So if we take a, a'EA two arbitrary elements:  $a = \sum_{i=1}^{n} \lambda_i b_i$   $a' = \sum_{i=1}^{n} \lambda_i' b_i$  for  $\lambda_i', \lambda_i' \in k$  i=1..., hthen their product must satisfy;  $a \cdot a' = \left( \underbrace{\underbrace{z}}_{i=1}^{n} \lambda_{i}, b_{i} \right) \cdot \left( \underbrace{\underbrace{z}}_{i=2}^{n} \lambda_{i}, b_{i} \right) = \underbrace{\underbrace{z}}_{i,j=n}^{n} \lambda_{i}, \lambda_{j}, b_{j}, b_{j}$ this means, that if we specify how to multiply any two basis elements then multiplication in the k-algebra is completely determined.

A quiver Q is a quadruple (Qo, Qn, s,t) consisting of the following data: . Qo is a set of vertices . Qn is a set of arrows Recall: · s: Q, -s Qo is a map, which sends an arrow to its starting point · t: Q, -) Qo is a map, which sends on arrow to its end point we represent an arrow de Qa by drawing it from its start to its end point, Like so:  $s(d) \xrightarrow{\alpha} t(d)$ Def (eA Q be a quiver. Given two paths  $C = (i | \alpha_1, \alpha_2, \dots, \alpha_r / j), c' = (j | \alpha_1', \alpha_2', \dots, \alpha_r', / k)$ with j=t(c)=s(c') we denote by c.c' the concatenation of two paths given by:  $c \cdot c' = (i | d_1, d_2, \dots, d_r, d_{r, r}, d_{r, r}, d_{r, r}, k)$ With this new definition we can start defining multiplication for paths. Together with on- remark before we can use this to construct a useful k-algebra, namely the path algebra. Def (4.5) (et Q be a guiver. We define the path algebra kQ of Q as the algebra with basis comprised of all paths in the guiver Q and multiplication of two basis elements c, c' given by:  $c \cdot c' = \begin{cases} c \cdot c' , if s(c') = t(c) \\ 0 & o + herwise \end{cases}$ therefore the product of any two elements in the path algebra is determined by:  $\left( \begin{array}{c} \mathbf{z} \\ \mathbf{z} \end{array} \right) \cdot \left( \begin{array}{c} \mathbf{z} \\ \mathbf{z} \end{array} \right) \cdot \left( \begin{array}{c} \mathbf{z} \\ \mathbf{z} \end{array} \right) = \begin{array}{c} \mathbf{z} \\ \mathbf{z} \end{array} \right) \mathbf{z} \cdot \mathbf{$ 

(4.3) the unity element of a path algebra ka is given by the sum of all constant <u>lemma</u> (4.3) paths :  $\Lambda = \sum_{i \in G_{i_0}} e_i$ proof let a G h Q then a = 5 Loc for Lock  $a \cdot (\Sigma c;) = \Sigma (\Sigma l_c \cdot c) c;$  $i \in Q_0$   $i \in Q_0$  csince c.e; = c if t(c)=: then only path where t(c)=: remain  $= \sum_{i=1}^{n} i_i \cdot c_i = c_i$  $s_{initarly}$ ;  $\underbrace{\mathcal{Z}}_{i\in Q_{o}} e_{i} \cdot a = (\underbrace{\mathcal{Z}}_{i\in Q_{o}} e_{i})(\underbrace{\mathcal{Z}}_{i\in C}) = \underbrace{\mathcal{Z}}_{i\in Q_{o}} \underbrace{\mathcal{Z}}_{i\in Q_{o}} \cdot c$  $= \underbrace{\mathcal{F}}_{i\in \Omega_{n}} \underbrace{\mathcal{F}}_{i\in C} = \underbrace{\mathcal{F}}_{i\in C} \underbrace{\mathcal{F}}_{i\in C} = \underbrace{\mathcal{F}}_{i\in C} \underbrace{\mathcal{F}}_{i\in C} = \underbrace{\mathcal{F}}_{i\in C}$ examples (4.3) (1) (e + Q be the quiver 1) & Qo= §13, Qq= §d) then the paths of Q cre equal d', d', a' .... thus the path algebra & Q has basis Eequal d', -3 multiplied tion is simply: d'. d' = d'tt siteN Then kQ is isomorphic to the clabra of polynomials over le. This can be shown through the basis elements fairly simply;  $\varphi: k Q \longrightarrow k[x]$  $\overset{\widetilde{\mathcal{F}}}{\underset{n=0}{\overset{}}} \downarrow_{n} \chi^{n} \longmapsto \overset{\widetilde{\mathcal{F}}}{\underset{n=0}{\overset{}}} \downarrow_{n} \cdot \chi^{n}$  $\ell(a^{s},a^{t}) = \ell(a^{s+t}) = x^{s+t} = x^{s} \cdot x^{t} = \ell(a^{s})\ell(a^{t})$ 

upper triangular matrices han. Since each path in kQ is a straight path from i to j with is j asi,jsn then we can uniquely denote each basis element of kQ by ci, the unique path from ito j st.:  $c_{ij} = \begin{cases} e_i, i=j \\ d_i \cdots d_{j-1}, i\neq j \end{cases} \quad a_h d_h s(c_{ij}) = i, t(c_{ij}) = j \end{cases}$ then  $\mathcal{L}: k \mathcal{Q} \longrightarrow \mathcal{M} \alpha f_{n \times n} \nabla(k)$ note that  $\ell(\sum_{i=1}^{n} c_{ii}) = \ell(\sum_{i=n}^{n} e_{i}) = \binom{n}{2} = \binom{n}{2}$ we'll demonstrate ela.b) = ela).elb) by an example: let n=3 q, bekQ wlere a= 5 hij cij b= p23c23  $a \cdot b = \left(\lambda_{11} \cdot c_{11} + \lambda_{12} \cdot c_{12} + \lambda_{13} \cdot c_{13} + \lambda_{22} \cdot c_{22} + \lambda_{23} \cdot c_{23} + \lambda_{33} \cdot c_{33}\right) \cdot \left(\rho_{23} \cdot c_{23}\right)$ since cij · c23 ≠ 0 (=) j=2 We have;  $q \cdot b = \int_{12} \frac{1}{2} \frac{1}{23} \cdot \frac{1}{23} \cdot \frac{1}{23} + \int_{22} \frac{1}{23} \cdot \frac{1}{23} \cdot \frac{1}{23} = \int_{12} \frac{1}{23} \cdot \frac{1}{23} \cdot \frac{1}{23} + \int_{22} \frac{1}{23} \cdot \frac{1}{23}$ on the other hand:  $\mathcal{C}(a) \cdot \mathcal{L}(b) = \begin{pmatrix} \lambda_{e_1} & \lambda_{e_2} & \lambda_{e_3} \\ 0 & \lambda_{e_2} & \lambda_{e_3} \\ 0 & 0 & \lambda_{e_3} \end{pmatrix} \cdot \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & \rho_{e_3} \\ 0 & 0 & \rho_{e_3} \end{pmatrix} = \begin{pmatrix} 0 & 0 & \lambda_{e_2} \rho_{e_3} \\ 0 & 0 & \lambda_{e_2} \rho_{e_3} \\ 0 & 0 & \rho_{e_3} \end{pmatrix} = \mathcal{C}(a, b)$ Also, we'll demonstrate an cramp con't be concatenated, we get the Ometrix. For example, take  $G = d_{q} = c_{q2}$ , and  $b = e_{3} = c_{33}$ then:  $a \cdot b = c_{q2} \cdot c_{33} = 0$  and  $e(G) = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$   $e(G) = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ Also, we'll demonstrate an example that when 2 points  $+ \left( e_{a} + o_{a} - e(a) + e(b) \right) = \begin{pmatrix} 0 + 0 \\ 0 & 0 \\ 0 & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\$ 

(3) (et Q be the quiver  $\frac{3}{2}$ then kQ is isomorphic to the set of all matrices of the form: Where he EK are the coefficients of the path c. le CR has the basis; Ec., e2, e3, e4, a, s, j, sa, ja } Lag ly O Lea / the structure and map for this isomorphism is very similar to (2), so we won't go into detail here. Def (4.6) (et A, B be two k-algebras, then a k-linear map of : A - 3B is a homomorphism of algebras if:  $\cdot + (1) = 1$  $\cdot \forall a, a' \in A \qquad f(a \cdot a') = f(a) \cdot f(a')$ We already used such homomorphisms in examples 4.3. Now we'll give you a problem where you can try to work with these maps as well; Problem 4.5 let G be a group and let kG:= { E lig / g Ek, finitely many by are nonzero} be the k-algebra with basis G and multiplication given by the group operation. kG is called the group algebra of G. Show that: (1) le Ze is isomorphic to the algebra of Lawrent polynomials in one variable over le. 12) le (2/2) is isomorphic to k[x] (xn-1)

So (u fions (1) define  $\phi: k \mathbb{Z} \longrightarrow k [x, x^{-1}] \xrightarrow{k \text{ lawrent}} f$ E fin I => E J × \* homomorphism: let a, be kZ pek  $a = \sum_{n \in \mathbb{Z}} \int_{n \cdot h} b = \sum_{n \in \mathbb{Z}} \int_{n \cdot n} \cdot n$ · I (p.a+b) = I (p. Z hin + Z hin) = I (Z (ph+hi)n)  $= \underbrace{\mathcal{E}}_{h\in \mathbb{Z}} (A_{h+1}(A_{h}) \times A_{h}) = \underbrace{\mathcal{E}}_{h\in \mathbb{Z}} A_{h} \times A_{$ =) I is k linear . in kZl the unity is O since in this kalgebra h·m := A+M 百(0) = 西(1.0) = 1·x° = 1 任 mity in L[x,x] •  $\underline{\mathcal{D}}(a,b) = \underline{\mathcal{D}}(\underbrace{\mathcal{Z}}_{heild}) + \underbrace{\mathcal{L}}_{heild} + \underbrace{$  $= \underbrace{\sum_{k \in \mathbb{Z}} \left( \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \cdot \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} \right) \times \widehat{D} = \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} = \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} J_{k} \times \widehat{D}}_{h \in \mathbb{Z}} + \underbrace{\sum_{k \in \mathbb{Z}} +$ => E is a k-cyclic homomorphism.  $\bullet \quad \overline{\Phi}(a) = \overline{\Phi}(b) \iff \sum_{n \in \mathbb{Z}} \lambda_n x^n = \sum_{n \in \mathbb{Z}} \lambda_n x^n$ (=) In=In VNGZ (=) E In = E In (=) a = 6 NGZ NGZ NGZ NGZ =) I is injective · let Zax" ek(x, x"] then anek Vnez so then Equin ekel and D(Equin) = Equix =) E is surjective (2) First off, let us recall that for any plx) EL(X] using long devision, one can find q(x1, r(x) Gk[x] st. p(x)=(x<sup>n</sup>-1)q(x) + r(x) where:  $r(x) = \sum_{i=0}^{\infty} \lambda_i x^i, \quad hence \quad k[x] = \sum_{i=0}^{\infty} \lambda_i x^i / \lambda_i \in k$ 

· 4(c) = 4(6) (=) = 1:x' = = 1:x' (=) 1; = 1: 41=0.....  $(=) \underbrace{\downarrow_{i=0}^{n-1}}_{i=0} \downarrow_{i=0}^{n-1} \downarrow$ • (et  $\sum_{i=0}^{n-1} a_i \times i \in k[\times]$  + here  $a_i \in k$   $\forall i \ge 0 - n - 1$   $i \ge 0$   $\sum_{i=0}^{n-1} a_i \cdot i \in k(\mathbb{Z}/n\mathbb{Z})$  and  $\forall (\sum_{i=0}^{n-1} a_i \cdot i) = \sum_{i=0}^{n-1} a_i \times i$   $i \ge 0$  f = 0=) Y is surjective Def (4.7) let B be a k-vector subspace of A then is is a subalgebra if B contains 1 and Vb, b'eis b. b'eis Prop (4.4) If IEA is a nilpotent ideal of A st. the Algebra A/2 = k × k × ... × k then I = rad Aproof we already know that I = rad A from Corollary 9.2 since le is a field, we know O, le are its sole i'deals, Oxtext ... xh , lexoxtex... xk ..... kx ... xk Oxte , lex ... xk x0 =) rad (A/I) = O since the radical ideal is the intersection of all the maximal ideals by definition. consider TI: A - A/I G H) A+I let a Gradial they from Lemma 4.1 we know theA 1-ba has an iverse CEA, them:  $1+I = \pi(a) = \pi(c \cdot (a - ba)) = \pi(c)\pi(a - ba) = \pi(c) \cdot (a - t\pi(b) \cdot t\pi(a))$ ulich means (1-TI(b). T(a)) has an inverse in A/I then again by lemma 4.1 TT(a) Ercd(A/I) but we've slow rad(A/I)=0 => TT(a)=0 =) a EI therefore radAS I

Cocollary (4.5) If Q is a guiver without oriented cycles, then radkQ is the ideal generated by all arrows in Q. A poth of the form i da . de ... de ... give by (ild, de, - dl, , de li), is an oriented cycle. proof We denote by Ra the ideal generated by all arrows in Q. We let L be the largest integer s.t. Q will contain a path of length L, ic. any product of L+7 arrows will be Q. This means R<sup>47</sup> = O hence Ra is a hilpotent ideal. Also Ee; + RalieQos is a basis for kQ/Ra so kar E kx x k Enumber of copies of k is 100,1 then by 12rop 4.4 Ry = rad (kQ) Remark (4.6) It's important in this corollary that Q fulfills the condition of Laving no oriented cycles. For this quiver Q: 52 for example the path algebra kQ is isomorphic to the polynomials k[x]. And since every linear polynomial x - a for ack, generates a maximal ideal, we see that rod k[x] = 0. 4.3 Modules In this section we'll define modules over a Ring R with a we'll also present some examples and finish with an example of a morpolism between two modules over a path algebra.

Def (9.8) (et 12 be a ring with 1 # 0 a right R-module M is an abelian group together with a binary operation, called the right R-action:  $\mathcal{M} \times \mathcal{R} \longrightarrow \mathcal{M}$ (~, - ) \-> ~. r we lave that: Vm, me EM and Vr, r, G12 s£.  $(m_1 + m_2)r_1 = m_1r_1 + m_2r_2$ (7)  $m_{e}(r_{1}+r_{2}) = m_{e}r_{1} + m_{q}\cdot r_{2}$ (2)  $m_{1}(r_{1} \cdot r_{2}) = (m_{1} \cdot r_{1} / r_{2})$ (3)  $(9) m_{1} \cdot 1 = m_{1}$ a left R-module is defined by multiplying the elements of M from the left and following the axioms (1)... (4) accordingly. examples (4.5) (1) If I = R is a right ideal, then I is a right Remodule, where the right Reaction is given by multiplication in 12. In particular, the ideal generated by all namely a.R = { a.r / reR3 is a right R-module (2) If Q is a guiver and A= & Q is its path clocking then for any vertex is Q ve can define an A-module S(i) whose abelian group is the one dimensional k-vector space generated by Eci} and whose Aaction is given by: VceA m.e. · c = § m.e. , if c=e; O , otherwise let's check that S(i) fullfils the module axioms In this case it's enough to only use two paths c, c'EA since other cases follow by k-Linearity of A and S(;). let ma, my Ele c, c' E A + hen : •  $(m_{q}e; + m_{2}e; ) \cdot c = (m_{q} + m_{2})e; \cdot c = \sum (m_{q} + m_{2})e; \quad (if c = e; c) = (m_{q}e; c + m_{2}e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + m_{2}e; \quad if c = e; c) = (m_{q}e; c) + (m_{q}e; c) + (m_{q}e; c) + (m_{q}e; c) = (m_{q}e; c) + (m_{q}e; c) + (m_{q}e; c) = (m_{q}e; c) + (m_{q}e; c) + (m_{q}e; c) + (m_{q}e; c) = (m_{q}e; c) + (m_{q}e; c) +$ => (m, c; + m2e; ) c = m, c; c + m2c; c

$$\begin{array}{c} & m_{n}c_{i} \left( c_{i}c_{i}^{i}\right)^{2} \begin{cases} h_{n}c_{i}^{i} & c_{i}c_{i}^{i}c_{i}c_{i}c_{i}^{i}c_{i}$$

S(i) and M(d) night seem familiar to you. You may have seen them as S(i), the simple quiver rep. and as j. This is no coincidence. They'll Likely appear later on again. Def (4.9) A module M is said to be generated by the elements m, m, m, if tor every mEM there exist a; e 12 st. m = a, m, ta, m\_2 + ... + as m; Miscalled finitely scherated if it is generated by a finite set of elements. Remark If Mis generated by maximums then M=maiR+maiR+...+msR for example: the ideal air is finitely generated by only one element acr. Def (9.10) let M, N be two R-modules. A map h: M - N is called a morphism of R-modules if Um, m' EM. VAER we have: -h(m+m') = h(m) + h(m') $-h(ma) = h(m) \cdot a$ The kernel of h is the set Ker(4) = { mem 1 6/m 1=0 } the image of h is the set Im (L) = {L(m) / mem } and the cohernel of h is coher(L) = N/Im(L) Remark If A is a k-algebra then a morphism of two A-modules is also a homomorphism of the underlying k-vector spaces and thus a linear map. Prop (4.8) If L: M-IN is a morphism of A-modules, then Ker(h), Im(h), coker(h) are A-modules. proof let ma, ma GKer(L) Ja, Ja E A tlen;  $h(m_1 + m_2) = h(m_1) + h(m_2) = 0 + 0 = 0 = m_1 + m_2 e_k e_r(k)$  $\cdot h(\lambda_{n} - 1 = \lambda_{n} h(m_{n}) = \lambda_{n} \cdot 0 = 0$ => 1 . m E/Ke-(6)

· (m, +m2) 1, = m, 1, + m2 12 follows directly from the · m ( ) + ) = m 1 + m 12 fact that Icer(L) = M an · m, (1, 12) = (m, 1, 1)2  $m_1 \cdot 1 = m$ A-modyle =) Ker(L) is an A-module the proofs for In 161 and Coker(6) are very similar and casy. So we won't bore you with this here. example (4.6) let A=kQ be a path algebra. And let S(j) and M(d) be A-modules as defined in examples (4.5) (2) and (3), where je Qo and dean with that=j. Then there is a morphism:  $L: S(j) \longrightarrow \mathcal{M}(a)$ me; I ma let's check that h is indeed a morplish of modules: let mimzek Leh CEA · h ( long e; + mae; ) = h ( ( long + male; ) = ( long + ma lot = long + mad + mad = l.h(m,ej) + h(meej) => Lis le linear  $h(m_{cj}c) = \begin{cases} h(m_{cj}) = m_{d} , & \text{if } c = c_j \\ h(o) = 0 , & \text{otherwise} \end{cases}$ h(mae; l·c = made { mad, if c = e; O, otherwise => h(m, c; c)= h(m,ej)c therefore h is a morphism of modules